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Tekst 7  Not by money alone 
 

1p 25 What is the main point made in paragraphs 1 and 2? 
Economists assume that 
A a balance between supply and demand will lead to general prosperity. 
B financial stimuli are enough to get people to behave in a morally 

acceptable way. 
C mankind is intrinsically geared towards contributing to society’s 

general well-being. 
D people will always try to get more than their fair share of resources. 
 

1p 26 Which of the following fits the gap in paragraph 4? 
A a commercial risk 
B a pressing dilemma 
C a social annoyance 
D an economic transaction 
E an ethical meltdown 
 

1p 27 Which of the following best summarises how the examples of incentives in 
paragraphs 4 and 5 are analysed in paragraphs 6 and 7? 
A as ambiguous and irresponsible 
B as cryptic and overambitious 
C as restrictive and uninspired 
D as superfluous and counter-productive 
 

1p 28 Which of the following fits the gap in paragraph 8? 
A can suffice 
B fails to impress 
C is unavoidable 
D lacks urgency 
 
‘much of his argument rests on the results of games played out in labs’ 
(alinea 10) 

1p 29 Is dit gegeven al eerder in de tekst aan de orde geweest? 
Zo nee, antwoord ‘Nee’. Zo ja, noteer het nummer van de alinea waarin 
dit is gebeurd.  
 


